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R A M A K R I S H N A  M I S S I O N  V I D Y A M A N D I R A  

(Residential Autonomous College under University of Calcutta) 
 

B.A./B.SC. FIRST SEMESTER EXAMINATION, DECEMBER 2013 
FIRST YEAR 

Date : 17/12/2013  SANSKRIT (General)  

Time : 11.00 am – 2.00 pm Paper : I Full Marks : 75 

 

1. Define and illustrate any three of the following : [3×3] 

 HÑF¡FFP¶F:, Þ»FXÊ¶FF, æFkèFõ»FPæFáFÛFh, ÛFFPáFÎFU, æFõFÎ¶FP¶FáF=+ÛFh— 
 

2. Scan and name the metres in any two of the following : [2×3] 

 =+) ÜFF õF_Pñ: öFñ]ÞFÃF æFùP¶F PæFPÍFC¶Fk ÜFF ùPæFÜFFa ˜F ùX·FU— 

 &F) EPÚF¡FÎFæF¶FX ÚF¶F]a: éãFfÜFW Põ»F¶FF ;F_PùµFUÑF¼W— 

 ;F) õFÞPõF¡FÛFÎF]PæFÊk èFYæFáFWÎFFPÑF ÞÛÜFÛFh— 

 fF) JæFÛFFêFÛFPæFßÊæF_P¸FÎFF— 
 

3. a) Decline any five of the following : [5×1] 

  i) =!’ ä̃ in “,þ“þ#ëûy ~„þî‰þ˜ ii) ›%!˜ in ‰þ“%þí#Å ~„þî‰þ˜ 

  iii) ë%Ü¿”ä in ¢®›# îýî‰þ˜ iv) !þ™“,þ in !m“þ#ëûy îýî‰þ˜ 

  v) ˜”# in ¡ìÛþ# !mî‰þ˜ vi) þ›•%þ in ²Ìí›y !mî‰þ˜ 

  vii) xßþ¿”ä in þ™Mþé›# ~„þî‰þ˜ 
 

 b) Conjugate any five of the following : [5×1] 

  i) †›ä + œ ä̂ 2nd person singular ii) „,þ Sþ™îû÷ìßþ¿þ™”V + !î!•!œ ä̂ 1st
 person singular 

  iii) £ ä̃ + œÝäþ 3rd
 person plural iv) þ™àäþ + œ ä̂ 1st

 person singular 

  v) þ™‰äþ + öœyÝäþ 2nd
 person singular vi) ”y + œÝäþ 3rd

 person plural 

  vii) î”ä + œ,Ýäþ 2nd
 person dual 

 

4. Answer any one of the following : [10] 

 a) Ö„þ˜y¢ ö„þ !Šéöìœ˜Ú þ™yàþÄy‚Ÿ xîœÁºöì˜ “¤þyîû vþzþ™öì”öìŸîû ¢yíÅ„þ“þy !î‰þyîû „þöìîûyÐ 

 b) îyöì’îû îû‰þ˜yîû#!“þ ~î‚ „þy!îÄ„þ =’yîœ#îû þ™ëÅyöìœy‰þ˜y „þöìîûyÐ 
Or, 

 Translate into Bengali any two of the following : [2×5] 

 a) EÑFÞW ¶F] õæFF»FaPÎFðÑFF¼ÎFÑFÞYÍFaÎFPÑFPèF¶F;FeFõF;F_ÍFdYÞFõ»FFÎFÎFPáFÎFUÙF=Y+Ã[a¶Fk PæFÎFX¼ GP¶F, ÑFÞ¼FÞFPÚF;FÛFÎFk æFY¼;ÍÜFPÛFP¶F, ÛF_;FÜFF êFÛF GP¶F, 
ÑFFÎFk PæFáFFõF GP¶F, ÒÛF¸F¶FF èFZÜÜFaPÛFP¶F, õæF¼FÞÑFPÞ¶ÜFF;FXNæÜFõFPÎF¶FWP¶F, ;F]ßæF˜FÎFFæFÍFUÞµFÛFÑFÞÒµFWÜF¶æFPÛFP¶F, EP¡F¶FÚF_¶ÜF¶FF 
õF]&FXÑFõFWæÜF¶æFPÛFP¶F, ÎF_¶ÜF;FU¶FæFFÃæFWèÜFFPÚFõFP…+: ÞPõF=+¶FWP¶F, ÛFùFÑFÞFÍFFÎFF=+µFaÎFk ÛFùFÎF]ÚFæF¶FF— 

 b) ÛFÎFõFF ¼WæF¶FFÍÜFFÞXÑFµFÒ¶FFÞµFF¼õF¼hÚF[¶FõFÛÚFFæFÎFXÑFù¶FFëF EÎ¶F:ÒPæFñFÑFÞÚF]¡FÂÜFPÛFæFF¶ÛFæFFCÜF];FáFk õFÛÚFFæFÜFPÎ¶F— 
¶æF;FÎ¶FPÞ¶F¶F_¶FUÜFáFX˜FÎFk õæFáFáFF©ÛFFèF’~Î¶FW— ¼èFaÎFÒ¼FÎFÛFPÑF EÎF];Feùk ;FµFÜFPÎ¶F, ¼_PñÑFF¶FÛFÑÜF]ÑF=+FÞÑF‡FW õ»FFÑFÜFPÎ¶F, õFÛÚFFðFµFÛFPÑF 
õFkPæFÚFF;FÛFÍÜFW =]+æFaPÎ¶F, EF£FFÛFPÑF æFÞÒ¼FÎFk ÛFÎÜFÎ¶FW, õÑFèFaÛFPÑF ÑFFæFÎFÛFF=+áFÜFPÎ¶F— 

 c) EF¶ÛFÒ£FFÑFPÞÚFæF G¶ÜFõF[ÜFPÎ¶F õFP˜FæFXÑF¼WèFFÜF— =]+ÑÜFPÎ¶F Pù¶FæFFP¼ÎFW— õFæFa»FF ¶FÛFPÚFÎFÎ¼PÎ¶F, ¶FÛFFáFÑFPÎ¶F, ¶Fk ÑFFíFWa =]+æFaPÎ¶F, ¶Fk 
õFkæFÍFaÜFPÎ¶F, ¶FWÎF õFù õF]&FÛFæFP¶FòÎ¶FW, ¶FõÛFY ¼¼P¶F, ¶Fk PÛF·F¶FFÛF]ÑFÎFÜFPÎ¶F, ¶FõÜF æF˜FÎFk éF_µæFPÎ¶F, ¶F·F æFðFaPÎ¶F, ¶Fk ÙFCÛFÎÜFÎ¶FW, 
¶FÛFFÓF¶FFÛFFÑFF¼ÜFPÎ¶F, ÜFXNùPÎFaèFÛFÎFæFÞ¶FÛF]ÑFÞP˜F¶FF§FPáFÞPÍF¼YæF¶FPÛFæF PæF;F¶FFÎÜF=+¶FaæÜF: õ¶FZP¶F, ÜFX æFF ÛFFùF¶ÛÜFÛF]¼hÚFFæFÜFP¶F— 

 

5. Translate into Sanskrit (any one) : [1×10] 

 a) ¦þyîû“þ¦)þ!› xy›yöì”îû ö”ŸÐ vþz_îû ¢#›y˜yëû xyöìŠé þ™îÅ“þîûy‹ !£›yœëûÐ ö¢ þ™,!íî#îû ›y˜”[þ éôé ~›˜£z !Šéœ „þy!œ”yöì¢îû 
îû›’#ëû „þÒ˜yÐ ~îû ›•Ä¦þyöì† !îîûy‹ „þîûöìŠé !îõþÄþ™îÅ“þ ~î‚ þ™!Øþöì› xyîûî ¢y†îûÐ ”!Çþöì’ ¦þyîû“þ›£y¢y†îû !˜ëû“þ “þyîû 
‰þîû’mëû ²ÌÇþyœ˜ „þöìîûÐ !£›yœëû öíöì„þ ²Ìîy!£“þ †Dy ¦þyîû“þ›y“þyîû „þöìZþ îûb›yœyîû ˜Äyëû !îîûy‹ „þöìîûÐ ¢%‹œy– ¢%šþœy– 
Ÿ¢ÄŸÄy›œy ¦þyîû“þ¦)þ!›Ð ~îû ö†ïîûî›ëû ú!“þ£Ä !îöìÙ»îû !îßþ¿ëû vþzêþ™y”˜ „þöìîûÐ 
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 b) ¢‚ßþ,ñ“þ ¦þyîû“þ#ëû ¢‚ßþ,ñ!“þîû ›)œÐ “þy xy›yöì”îû ú„þÄîkþ“þyîû „þyîû’ßþºîû*þ™Ð ¦þyîû“þîöì¡ìÅîû ëy ú!“þ£Ä– “þy ¢‚ßþ,ñöì“þîû x•#˜Ð 
¢‚ßþ,ñ“þ xyMþé!œ„þ ¦þy¡ìy=!œîûç ²Ìy’ßþºîû*þ™Ð ¢‚ßþ,ñöì“þîû x›,“þîûöì¢ ö¢£z ¦þy¡ìy=!œîû ¢›,!kþ ¢½þîÐ xy¢›%o!£›y‰þœ ~„þ ~î‚ 
vþz”y_ ›sþf “þ#öìíÅ “þ#öìíÅ †#“þ £ëûÐ ¢‚ßþ,ñ“þ îÄ“þ#“þ ¦þyîû“þ#ëûöì”îû x˜Ä ö„þyöì˜y ö†ïîûî ö˜£zÐ !îÙ»¢y!£“þÄ ¦þy[þyöìîû ¢‚ßþ,ñöì“þîû 
¢%•y¦þy[þ x›,“þßþºy” !î“þîû’ „þöìîûÐ 

 

6. Answer any five questions after reading the following unseen passage : [5×2] 

 EPõ¶F ÛFÎ¼ÞÑFæFa¶FW ¼]¼FaÎ¶FX ÎFFÛF PõFkù:— J=+¼F ÑFèFæF: õFæFaW PÛFPáF¶æFF ¶FõÜF õFÛFUÑFk ;F¶æFF H…+æFÎ¶FëF — iP=+PÛFP¶F ÚFæFFÎFh ÜF»FW˜šk ÑFèF]k 
ùPÎ¶F— æFÜFÛFWæF ¶FæFFùFÞF»Fb Ò¶ÜFùÛFh J=Y+=k+ ÑFèF]ÛFh HÑFùÞFÛF:—j PõFkùWÎFX…+ÛFh — i¶F»FYæF ÚFæF¶F]j— J=+¼F èFèF=+õÜF æFFÞ: õFÛFFÜFF¶F:— 
iEæFèÜFk ÛFPÞðÜFFPÛF ˜FW¶Fh, P=k+ PõFkùõÜF EÎF]ÎFÜFWÎF?j GP¶F P˜FÎ¶FPÜF¶æFF õF ÛFÎ¼k ˜FPáF¶F:— ‡F]ÍFF¶Fa: PõFkù: ¶FÛFæF¼¶Fh- iPæFáFÛÙFF¼F;F˜šPõF 
=+»FÛFh?j èFèF=+ HæFF˜F — iÑFP»F EÑFÞ: PõFkù: ÛFFk ÙFáFF¼h ÍF_¶FæFFÎFh— ¶FõÜF õFÛFUÑFW ÑF]ÎFÞF;FÛFÎFFÜF èFÑF»Fk =_+¶æFF E·FF;F¶F:—j PõFkùWÎFX…+ÛFh 
— iõF¶æFÞk ¼èFaÜF †+ õF ¼]ñ: P¶FòP¶F—j PõFkùWÎF õFù èFèF=+: =[+ÑFõÜF õFÛFUÑFW EF;F¶ÜF =[+ÑF¡FáFW PõFkùõÜF ÒP¶FPÙFÛÙFk ¼èFaÜFFÛFFõF— E»F 
;F¡FaÎFh PõFkù: EF¶ÛFFÎFk PÎFP‡FÑÜF ÛFÞµFk ÒFÓF:— 

 =+) PõFkùõÜF ÎFFÛF P=+ÛFh? õF: =]+·F P¶FòP¶F? 

 &F) PõFkùk ÑFèFæF: P=+ÛFæF¼ÎFh? 

 ;F) èFèF=+õÜF PæFáFÛÙF;FÛFÎFW =+X ùW¶F]:? 

 fF) PõFkùõÜF P¡F£FFõFFÜFFk èFèF=+õÜF H¸FÞk =+U¼_èFÛFFõFU¶Fh? 

 ‘~) èFèF=+: PõFkùFÜF P=+ÛF¼èFaÜF¶Fh? 

 ˜F) =+»Fk PõFkùX ÛF_¶F:? 

 š) ;FÃFkèFõÜF =+F ÎFUP¶F=+»FF ÚFPæF¶F]ÛFh EùaP¶F? 
 

7. Join in Sandhi any three of the following : [3×1] 

 ÛFF¶F]:++ ÞX¼ÎFÛFh–  ÛFùFÎFh++ áFFÚF:– =+æFU++ GÛFZ–+ ¶FZ++ JæF– ¶FFÎFh++ ¶FFÎFh– õFFÍF]++ E·F— 
 

8. Disjoin the sandhis in any three of the following : [3×1] 

 èFÜFÎFÛFh, æFF;FUèF:, H¶»FFÎFÛFh, ÙF_ùõÑFP¶F:, õFkõ=+FÞ:— 
 

9. Account for the case-endings in any two of the following : [2×2] 

 =+) =+æFUÎFFk =+FPáF¼FõF: êFWò:— &F) ¼]:&FF¶Fh ÞXP¼P¶F ÙFFáFF— 

 ;F) ¡F©FPÚF: ¶FFÑFõFÛFÑFèÜFÛFh— ‘~) õF[ÜFaW HP¼¶FW ÑF¿k Ò=+FèF¶FW— 

 ˜F) õFFÍF]: æFÎFÛF]ÑFæFõFP¶F— 
 

10. Frame sentences to illustrate any two of the following : [2×2] 

 =+) EÎFF¼ÞW ðFòU &F) æÜFFÓÜF»FWa PÂ¶FUÜFF 

 ;F) ùW¶FZ ¶F_¶FUÜFF fF) ¶FF¼»ÜFWa ˜F¶F]»FUa 
 

11. Correct any three of the following sentences : [3×1] 

 =+) ÚF;FæFFÎFõÜF EÑFFÞF ÛFPùÛFF— &F) õFÞõæF¶FUk ÎFÛFX PÎF¶ÜFÛFh— 

 ;F) õFFÎFÎ¼WÎF ÎF_¶ÜFPÎ¶F ÙFFáFF— fF) ÚFæFFÎFh ÜF»FFPæFPÍFk ÍFÛFb ˜FÞ— 

 ‘~) ÎF ÛFW E»FaõÜF ÒÜFX¡FÎFÛFh— 
 

12. Substitute single words for any three : [3×1] 

 =+) =]+P©áFk ;F˜šP¶F &F) ÛFÎFXÞÑF¶ÜFk ÑF]ÛFFÎFh 

 ;F) ÛFù¶Fh EÞµÜFÛFh fF) PùÞµÜFõÜF PæF=+FÞ: 

 ‘~) ÑF]ÎF: ÑF]ÎF: ¡æFáFP¶F 

 

 

 


